9.8 Proving Trapezoids and Parallelograms.notebook

DO NOW

The vertices of quadrilateral PQRS are P(1,1), Q(4,-2),

R(7,1), and S(4,4). Is PQ parallel to RS? Show your
work and explain your answer.
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Proving a Quadrilateral is a Trapezoid

At least one pair of sides MUST BE PARALLEL

Show this using the s lope formula

Given: A(1,6), B(7,9), C(10,6), and D(0,1)
Prove: ABCD is a trapezoid
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Proving a Quadrilateral is a Parallelogram

Two pairs of opposite sides parallel
Using Slope formula (‘7‘*3

OR
Two pairs of opposite sides congruent

Using distance formula (“h\\

OR
The diagonals bisect each other

Using vv\\'olpo\\f\’r formula ( Zx)
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The vertices of quadrilateral ABCD are A(-2,1), B(4,-2), C(8,2) and D(2,5).
Prove ABCD is a parallelogram.

(a) Using slopes (b) Using distance (c) Using midpoints
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The vertices of quadrilateral ABCD are A(-2,1), B(4,-2), C(8,2) and D(2,5).
Prove ABCD is a parallelogram.

(a) Using slopes (b) Using distance (c) Using midpoints
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The vertices of quadrilateral ABCD are A(-2,1), B(4,-2), C(8,2) and D(2,5).
Prove ABCD is a parallelogram.

(a) Using slopes (b) Using distance (c) Using midpoints
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Quadrilateral RSTU has vertices at R(-4,4), S(2,7), T(5,2) and U(-7,-4).
Show that RSTU is a trapezoid but not a parallelogram. Use of the grid is

optional.
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